AQA Level 2 Further Mathematics Number &
Algebra |

Section 3: Surds

Solutions to Exercise

1. (1) JB2=V4x2=J4xJ2=2J2
i) Eo=V2a5x2=\25xJ2=52
({lh) J4g=Viexz=iexJz =43

(v) V216 =zex6 =z6xJe =6e
) VEE =357 = JIxF =27

(M) 200 =100x=2 =100 X[z =10\

(D) Ve x2F =VExy2x (9% =2 x3x3= 92
(Vi) VI2 X215 =4 x/3 xJ3 x5 =2%x3%xJ5 =65
(i) V10 x24 x15 =5 xJ2 x4 x3 xJ2 X3 x5

=5 X2X2X3
=e0

2 1) (1+42)+(3-242)=1+3+/2-2V2
=4-+2

@) (5v2-2v2)-(V2+2V3)=5V2-2Vz-V2-3Jz
=4J2-54/=

(1) 2(v5 -3vV3)+3(2V5 +43)=2V5 —6Vz +e5 +343
=gJ5 -2z

(v) Jig+{72- 98 = [9x2 +/mex2 - [49x2
=3J2+6V2-#V2
)
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(1+J§ﬂ3—d§)=3—J§+3J§—2
=1+2J2

(2-v3)(3+2V3)=c+4/z-3J3 —2x3
==

(3-2V5)(1-3V5)=3-9V5 —2J5 +&x5
=33-11/5

(V2+2v3)(5V2-v3)=5x2-V2V3 +10/3/2 —2x3
=10-Je +10\e —¢
=4+ 9Je

(VF+V2)(VF -V2)=7#-JFV2+/2/F -2
(3-+v2) =(3-v2)(z-+2)
=9-3/2-3/2+2
=11 —6/2
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+\/§X\/§_(1+x/5)x/5_\/§+2
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1 Jﬁ 1 Jz -1 z-1 J3-1
J—+1 Jz2-1 (J§+1)(J§—1)_3 2

V2 2442 _ J2(2+42) 2dz+2 :2\/_+:2_\/7+1
-z 2+42 (2-v2)(2+42)  4-2
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L 2e_(1-E)(2+4A)

2= 2+43 (2-v2)(2++3)
2+42-2Jz-2
- 4-3

:—1—\/5

)

1
=—1-+z

1425 3+45 (1+245)(z+5)
z-5 3+\/_ (2-V5)(z++5)
_3+J5+el5 +2x5
9-5
12+ 75

4

(vit)

1+V2  V3-J2 _ (t+v2)(Vz-+=2
Gtz 2= - (VER2)(VE-2)
«/’fJZz
J_f

N—"

(vilt)

+f2

J—+J— Je+vz  (Ne++3)(Ve +3)
Ve—E Je+\E  (Ve—5)(Ve +3)

_e+12+18+3
-3
_ 9+241e

2

(ix)

. one possible width is (V7 —1) cm

Inthis case, the area is (JF +1)(VF -1)=F-1=6om?

Other answers are possible.
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